
   

8460 

M8 x 40 DIN7991 

+ M8 DIN985 

TRIUMPH  
Street Triple 675R 

2008–2012 
Part Nr. 532 

818205 872 

875 

813RD 

813LC 

8350 

BD12 

M8 x 50 DIN6921 

+ 807 
M8 x 50 DIN6921 

+ 807 

M6 x 35 DIN7380 
+ 817 + 123121206 

+ M6 DIN985 
 

 

M6 x 8 DIN7380 

M8 x 25  
DIN7991 M6 x 40 DIN7380 

+ 123121806 

+ 816R + M6 DIN934 

+LOCTITE ! 

M8 x 20  

DIN7991 

M8 x 25 DIN7991 
+ 123200508 

810R 819M6L 

 MAIN PLATE  536R+L 

 
 


